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i =2 F1E |20 |FHTFH 10| F20 |FHTFH] F1E | F260 | FHAFY | F 10| 20 |FHTFH F10 | 20 |FATFH] F18 | E2E | FHFY
0803 |RFHE™
0902 |RFHE M
0902 |RFHE™
0902 |RFHE M
1415 [FEBH 0.035 0.035
2413 |#&E & < 0.0002 < 0.0002
2508 |f@40lH 0.008 0.008
2021 [@fH
3818 | &M
3827 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
4122 &R 0017 0017
4731 | k5T 0.0024 0.0024
4830 | H@TH
4931 | Kl
5542 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
5642 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
5643 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
5644 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
5742 | FERTH < 0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
5744 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
5840 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
5841 |m#RH 0017 | 0010 | 0014
5841 | &R 0.005 | 0012 | 0.009
5842 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002]|< 0.0002
5843 | &R < 0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
5844 | &R
5940 | &R < 0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
5941 | &R <0002 [<0002 [<0002 |< 0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002]|< 0.0002
5942 | &R < 0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
5942 | &R < 0.0002 < 0.0002 < 0.0002
5943 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
5945 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
5945 | &R 0016 | 0010 | 0.013
6040 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
6041 |F&RTH < 0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
6041 |m#H 0018 | 0006 | 0.012
6042 | &R < 0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 00002 [< 0.0002[< 0.0002
6043 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
6045 | &R < 0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 00002 [< 0.0002[< 0.0002
6143 | &R <0005 [<0005 [< 0005 <0002 [<0002 [<0002 |< 0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
6145 | &R < 0005 [<0005 [< 0005 < 0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
6241 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
6241 |[[ A < 0.005 < 0.005
6242 | &R
6243 | F#RTH
6243 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002]|< 0.0002
6341 |REmH < 0.0002 < 0.0002 < 0.0002 < 0.0002
6342 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002]< 0.0002 [< 0.0002][< 0.0002
6343 | &R <0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
6344 | AT < 0.0002 < 0.0002 < 0.0002 < 0.0002
6344 |54
6344 | AT
6441 |F#ERTH < 0002 [<0002 [<0002 |<0.0002[< 0.0002[< 0.0002|< 0.0002 [< 0.0002[< 0.0002
6444 | AT
6543 | 54T 0.0029 0.0029 0.0007 0.0007
6543 |FAT < 0.0002 < 0.0002
6544 |F4TH 0054 | 0023 | 0039
6640 | /\ &t 0.017 0.017
6642 | A fifl LIET 0092 | 0008 | 0050
6643 | AT < 0.0002 < 0.0002
6340 |RREmH < 0.0002 < 0.0002< 0.0002 < 0.0002
6340 | KRR < 0.0002 < 0.0002]< 0.0002 < 0.0002
6340 | R mH < 0.0002 < 0.0002 < 0.0002 < 0.0002
6340 | RERH < 0.0002 < 0.0002]< 0.0002 < 0.0002
s | 6340 EREmH < 0.0002 < 0.0002 < 0.0002 < 0.0002
T | 6340 [RARE™ < 0.0002 < 0.0002]< 0.0002 < 0.0002
6341 |[[ A < 0.0002 < 0.0002< 0.0002 < 0.0002
6441 |[EFRH < 0.0002 < 0.0002]< 0.0002 < 0.0002
6441 |REmH < 0.0002 < 0.0002| 0.0029 0.0029
6441 | RE =T < 0.0002 < 0.0002] 0.0005 0.0005
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b =2 F1E | FE2E |FHFEY| F16E | F20 |FHMFH]| 10 | F20 [(£FRFY| £168 | F26 |FMFY| F10 | F2E [FMFY
0803 |RFHE™
0902 |RFHE M
0902 |RFHE™
0902 |RFHE M
1415 | BT
2413 |#&E0TH < 0.01 <001 |< 0004 < 0.004 |< 0.002 < 0.002 |< 0.002 < 0.002
2508 |f@40lH
2021 |@fH
3818 | &M
3827 |F#RTH < 00004 [< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
4122 |&R™H
4731 ks
4830 | H;ATH
4931 | Kl
5542 | &R < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 <0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
5642 |FHRT < 00004 [< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0002 [< 0002 [< 0002
5643 | FERTH < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
5644 |FHRT < 00004 [< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [< 0002 [< 0002
5742 | &R < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
5744 |FHRT < 00004 [< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 <0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
5840 | &R < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [ 0006 [ 0005 |[<0002 [ 0004 [ 0003 [< 0002 [< 0002 [< 0.002
5841 | &R
5841 |R&RTH
5842 |F#RT < 00004 [< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
5843 | &R < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
5844 | &R
5940 | FT&RTH < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
5941 [F#RT < 0.0004[< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [ 0006 [ 0005 |<0002 [ 0004 [ 0003 [< 0002 <0002 [< 0002
5942 | &R < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
5942 | &R <001 [<o001 [<o001 ]<0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
5943 | &R < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
5945 |F#RT < 0.0004[< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
5945 | &R
6040 |F#RT < 0.0004[< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
6041 |FT&RTH < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
6041 | &R
6042 | FTERTH < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 <0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
6043 |F#RT < 0.0004[< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
6045 | FTERTH < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
6143 [F#RT < 0.0004[< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
6145 | &R < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 <0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
6241 [F#RTH < 00004 [< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
6241 |[@ A
6242 | R#RTH
6243 | FHRTH
6243 |FHRTH < 0.0004[< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
6341 |RREmH <001 <001 0.023 0.023 | 0.021 0.021 |< 0.002 < 0.002
6342 |FHRTH < 0.0004[< 0.0004[< 0.0004]< 001 [<001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [< 0002 [<0002 [< 0002
6343 | FERTH < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 <0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
6344 |FiAT < 001 < 0.01 0.004 0.004 | 0.002 0.002 [< 0.002 < 0.002
6344 |FAT
6344 | AT
6441 | FERTH < 0.0004 [< 0.0004 [< 0.0004]< 001 [< 001 [<001 <0004 [<0004 [<0004 |<0002 [<0002 [<0002 [<0.002 [<0.002 [< 0002
6444 | AT
6543 |FA4TH <001 <001 0.017 0017 | 0015 0.015 |< 0.002 < 0.002
6543 |FiAT < 001 < 0.01 0.004 0.004 | 0.002 0.002 [< 0.002 < 0.002
6544 |FAT
6640 | /\ &t
6642 | A il LLIET
6643 |FIAT < 0.01 < 0.01 0.006 0.006 | 0.004 0.004 [< 0.002 < 0.002
6340 | R <001 <001 [< 0004 < 0004 |< 0.002 < 0.002 [< 0.002 < 0.002
6340 | RFEAR M < 001 <001 |< 0004 < 0.004 |< 0.002 < 0.002 |< 0.002 < 0.002
6340 | R <001 <001 <0004 < 0004 |< 0.002 < 0.002 [< 0.002 < 0.002
6340 | RFEAR M < 0.01 <001 |< 0004 < 0.004 |< 0.002 < 0.002 |< 0.002 < 0.002
s | 8340 RREEH <001 <001 <0004 < 0004 |< 0.002 < 0.002 [< 0.002 < 0.002
© [ 6340 [EEmTH < 0.01 <001 |< 0004 < 0004 |< 0002 < 0002 [< 0.002 < 0.002
6341 |[@ A <001 <001 0.005 0.005 | 0.003 0.003 |< 0.002 < 0.002
6441 | RFEAR M < 0.01 <001 |< 0004 < 0004 |< 0002 < 0002 [< 0.002 < 0.002
6441 |REmH <001 <001 0.008 0.008 | 0.006 0.006 |< 0.002 < 0.002
6441 | R M < 0.01 < 001 |< 0.004 < 0004 |< 0.002 < 0.002 [< 0.002 < 0.002
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b =2 F1E | FE2E |FHFEY| F10 | F20 |EMFY| F£168 | F20 [FMFY| F1E | F26 |FRFY| E 16 | F20 |F£HFY
0803 |RFHE™
0902 |FRFHE M
0902 |RFHE™
0902 |RFHE M
1415 |\ H
2413 |#&E & <ot <01 < 0.003 < 0.003 |< 0.001 < 0.001
2508 |f@40lH
2021 |EfH
3818 | &M
3827 |F#RT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 <0001 [<0001 |<0001 [<0001 [<0001
4122 |&R™H
4731 ks
4830 | HATH
4931 | Kl
5542 | &R <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 <0001 [<0001 |<0001 [<0001 [< 0001
5642 |FHRT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 [<0001 [<0001 |<0001 [<0001 [< 0001
5643 | FERTH <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 <0001 [<0001 |<0001 [<0001 [<0.001
5644 |FHRT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [<0003 | 0001 [<0001 [ 0001 |<0001 [<0001 [<0001
5742 | &R <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 <0003 [<0003 | 0013 [ 0013 [ 0013 |< 0001 [<0001 [< 0001
5744 |HRT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 [<0001 [<0001 |<0001 [<0001 [< 0001
5840 | FT&RTH <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [<0003 | 0005 [ 0012 [ 0009 |< 0001 [<0001 [< 0001
5841 | &R
5841 |R&RTH
5842 |F#RTH <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 [<0001 [<0001 |<0001 [<0001 [<0001
5843 | &R <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [<0003 | 0001 <0001 [ 0001 |<0001 [<0001 [<0.001
5844 | &R
5940 | FT&RTH <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [<0003 | 0008 <0001 [ 0005 <0001 [<0001 [<0.001
5941 [F#RT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [<0003 | 0002 [ 0002 [ 0002 |< 0001 [<0001 [<0001
5942 | &R <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [<0003 | 0003 [ 0002 [ 0003 |< 0001 [<0001 [<0001
5942 | m#RH 0008 | 0003 | 0006 | 0018 | 0011 | 0015
5943 | &R <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 <0001 [<0001 |<0001 [<0001 [< 0001
5945 |F#RT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 [<0001 [<0001 |<0001 [<0001 [< 0001
5945 | &R
6040 |F#RT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 [<0001 [<0001 |<0001 [<0001 [<0001
6041 | FT&RTH <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 <0001 <0001 |<0001 [<0001 [<0.001
6041 | &R
6042 | FTERTH <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006] 0003 [<0003 [ 0003 | 0036 [ 0029 [ 0033 |< 0001 [<0001 [< 0001
6043 |F#RT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 <0001 [<0001 |<0001 [<0001 [<0001
6045 | FTERTH <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [<0003 <0001 [ 0001 [ 0001 |<0001 <0001 [< 0001
6143 [F#RT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 [<0001 [<0001 |<0001 [<0001 [<0001
6145 | FT#RTH <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 <0001 [<0001 |<0001 [<0001 [<0.001
6241 [F#RTH <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 [<0001 [<0001 |<0001 [<0001 [<0001
6241 |[@ A
6242 | R#RTH
6243 | FERTH
6243 |FHRTH <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 [<0001 [<0001 |<0001 [<0001 [<0001
6341 |RERM  |< 01 <0.1 0.011 0.011 < 0.001 < 0.001
6342 |FHRT <01 [<o1 [<o1  ]<0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 [<0001 [<0001 |<0001 [<0001 [<0001
6343 | &R <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [<0003 |< 0001 <0001 <0001 |<0001 [<0001 [<0.001
6344 |FiATH <01 <01 < 0.003 < 0.003 | 0.006 0.006
6344 |FAT
6344 |FiATH
6441 | FERTH <01 [<o1  [<o1 < 0.0006[< 0.0006[< 0.0006]< 0003 [< 0003 [< 0003 |< 0001 <0001 [<0001 |<0001 [<0001 [< 0001
6444 | AT
6543 |F 4T <041 <041 0.004 0.004 | 0.017 0.017
6543 |FiAT <ol <01 < 0.003 < 0.003 | 0.007 0.007
6544 |FAT
6640 | /\ &
6642 | A il LLIET
6643 |FIATH < 0.1 < 0.1 0.070 0.070 | 0014 0.014
6340 | KRR |< 01 < 0.1 < 0.003 < 0003 [< 0.001 < 0.001
6340 |RREmM  |< 01 <01 < 0.003 <0003 [ 0019 0.019
6340 | KRR |< 01 <0.1 < 0.003 <0003 [ 0001 0.001
6340 |RFERM  |< 0.1 <01 < 0.003 < 0.003 [ 0002 0.002

s | 6340 EB=EMm K01 <0.1 0.003 0.003 [< 0.001 < 0.001

T | 6340 [RARM <01 <01 < 0.003 <0003 [ 0006 0.006
6341 |[@ A <01 <01 < 0.003 < 0003 [< 0.001 < 0.001
6441 |RERM  |< 0.1 <01 < 0.003 < 0.003 [< 0.001 < 0.001
6441 | KRR |< 01 <0.1 < 0.003 < 0003 [< 0.001 < 0.001
6441 |RERM __ |< 0.1 < 0.1 < 0.003 < 0.003 [< 0.001 < 0.001
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